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1 ABC is aright-angled triangle.

C

8cm

28°
A X B

Calculate the length of AB.
Give your answer correct to 3 significant figures.

Cos(28) = x
%
8x cos(23)= x

x= 3063580343  J.06

cm
(Total for Question 1 is 2 marks)
2 ABC isaright-angled triangle.
C
p &
31°
A 13 cm B
Calculate the length of AC.
Give your answer correct to 3 significant figures.
£an (31) = x
3
(3 x tan(31) = <
x = F 8§30 Lk} .
3-8 -

(Total for Question 2 is 2 marks)
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3 ABC is aright-angled triangle.
A

41°

19cm

Calculate the length of BC.
Give your answer correct to 3 significant figures.

Sin (4\) = X
1A

19x Sinkl) = X
X = 12-4651216S

|12:S

(Total for Question 3 is 2 marks)

4 ABC is aright-angled triangle.
C

x T

A 21 cm B

Calculate the length of AC.
Give your answer correct to 3 significant figures.

Sin(3N = X
pe

x = 2\
sin (39)

€= 21551218616

2\ 6

(Total for Question 4 is 2 marks)
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5 ABC is aright-angled triangle. A

34°

X

B 5cm C

Calculate the length of AB.
Give your answer correct to 3 significant figures.

%QV\(“'\ = 5
x

S
Lan (34)

= F%I12%4% 243 2\

(Total for Question 5 is 2 marks)
6 ABC is aright-angled triangle.
A 5 C

3.2¢cm
840 -J(/

B

Calculate the length of BC.
Give your answer correct to 3 significant figures.

Cos(8%) = x
-1
x= 31
s (3%)

106

(Total for Question 6 is 2 marks)

www.1stclassmaths.com © 2024 1stclassmaths

cm

cm


http://www.1stclassmaths.com/

I’ y r@ @1stclassmaths

7 ABC is aright-angled triangle. A

11 cm
9cm

B C

Work out the size of the angle marked x.
Give your answer correct to 1 decimal place.

sin by = &
1\
_oant (A

x= S4%- 490314933 S“q

(Total for Question 7 is 2 marks)

8 ABC is aright-angled triangle.
45cm

8.8cm

Work out the size of the angle marked x. C
Give your answer correct to 1 decimal place.

tan () = %%
45

= Yan” (?’_3_
&S

(Total for Question 8 is 2 marks)
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9 The diagram shows triangle ADC. D
48°
15cm 12 cm
1 0
A B C

ABC is a straight line.

Work out the length of AC.
Give your answer correct to 3 significant figures.

sin (¢8)= AB Cos(Fo) = BC
S T

AB= (S x sin(48) BC = 12 x s (F0)
ABR= L1 146 I8 3C - 4oL

AC= AR + RC

= 1% + G.loy ...
= S-S NG V¢

15-3

(Total for Question 9 is 4 marks)
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10 The diagram shows triangle ADC.

D
30cm
63 11 X
A B 24 cm C

ABC is a straight line.

Work out the size of the angle marked x.
Give your answer correct to 1 decimal place.

sin(63) =BD
10

2D = Joxin(62)
BD= 26-F3019537

tan () = 26-F...
2

= tan™ (_%:_)

~= W% 08051021
43|

(Total for Question 10 is 4 marks)
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11 The diagram shows triangle ABC.

AB =AC

Work out the perimeter of triangle ABC.
Give your answer correct to 1 decimal place.

sin (F0)= 1S
LS

AB=_AS

Sin(R0)
AR = 26 6044l 43\
AC= Mo 6044 4%l

P= 2%66..426 6.. +50
= 163-208%8¢%6

l Ol . ’L cm
(Total for Question 11 is 4 marks)
7
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12 The diagram shows trapezium ABCD.

66°

D 3.3cm C

Work out the length of AD.
Give your answer correct to 3 significant figures.

Lan(42) = BD
13

BD= 3-3x 4un &
BD= 2-93F13333%6

cos(66)= X-AF...
AD
AD= &19%F..
cod (66)

‘:} : ’L \ cm
(Total for Question 12 is 4 marks)
8
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13 The diagram shows triangle ABC.

8cm

ADC is a straight line.

Work out the length of AD.
Give your answer correct to 3 significant figures.

tan (4o) = DTC

DC = Extan (o
DC = 63 13 3049

Lan(60) = AC
4
AC = 3 x tun(60)
AC=12-856406%b
AD= 1388 ... —¢- ..
AD = F 14 TI60A L\

+\&
(Total for Question 13 is 4 marks)
9
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14 The diagram shows trapezium ABCD. k
Z >
—-—
A B
(G L
20 cm
a 25cm b

Work out the area of trapezium ABCD.
Give your answer correct to 3 significant figures.

Lan (80) = XC
S

XC = Sx tan (80)
KC= A& 1GS6% 04\

Afﬂu = ‘/L(CL-\'\O\\N
=% (15 + 10) x 1% 156..

= 632019204

618 ..

(Total for Question 14 is 4 marks)
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15 The diagram shows rectangle ABCE.

A 30cm |_B
\O o
u 24 X 6 [

E D C

The perimeter of rectangle ABCE is 80 cm
ED:DC=4:1

Work out the size of angle ADE.
Give your answer correct to 1 decimal place.

30 +S= 6 80-30 -30 =20
Wxb = 2% 20+ 2 =\®
Il 6 = 6

can(x)= (0

24
L= tan’ (lf‘?k\
x = 1) 6\486 495
220

(Total for Question 15 is 4 marks)
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16 ABCDE is a pentagon formed from three triangles.

N £ B\ N

Sem ™

ol

)

3
O

Triangles ABC and ADE are congruent.

Work out the size of angle DAC.
Give your answer correct to 1 decimal place.

tan(38)= ﬂib_

AD = 2 x kan(F9)
= 1&-1123%9037

Sinlx)= 1-5
[4-11... A%Ie DAC = Ux
A= Sin (ﬁ) = 2x (D-20..
&N = 20-40S%..

X = 10.2026b209

10-L

(Total for Question 16 is 4 marks)

12

www.1stclassmaths.com © 2024 1stclassmaths



http://www.1stclassmaths.com/

u ’ r@ @1stclassmaths

17 A logo is made from a sector and a triangle.

Wy P

PP

30°

Work out the area of the sector.
Give your answer correct to 3 significant figures.

Sin (20)= Opp
Ul

oPp = |1X Sin(%0)
= 65

frea

-%, x TTKS-s*
FLF LB I¥Y

\l

312

cm?
(Total for Question 17 is 4 marks)
13

www. 1stclassmaths.com

© 2024 1stclassmaths


http://www.1stclassmaths.com/

	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13

